Chapter 18

Discussion Questions

	18-1.
	How does the marginal principle of retained earnings relate to the returns that a stockholder may make in other investments?

The marginal principle of retained earnings suggests that the corporation must do an analysis of whether the corporation or the stockholders can earn the most on funds associated with retained earnings. Thus, we must consider what the stockholders can earn on other investments.



	
	

	18-2.
	Discuss the difference between a passive and an active dividend policy.

A passive dividend policy suggests that dividends should be paid out if the corporation cannot make better use of the funds. We are looking more at alternate investment opportunities than at preferences for dividends. If dividends are considered as an active decision variable, stockholder preference for cash dividends is considered very early in the decision process.



	
	

	18-3.
	How does the stockholder, in general, feel about the relevance of dividends?

The stockholder would appear to consider dividends as relevant. Dividends do resolve uncertainty in the minds of investors and provide information content. Some stockholders may say that the dividends are relevant, but in a different sense. Perhaps they prefer to receive little or no dividends because of the immediate income tax.



	
	

	18-4.
	Explain the relationship between a company's growth possibilities and its dividend policy.

The greater a company's growth possibilities, the more funds that can be justified for profitable internal reinvestment. This is very well illustrated in Table 18-1 in which we show four-year growth rates for selected U.S. corporations and their associated dividend payout percentages. This is also discussed in the life cycle of the firm.



	
	


	18-5.
	Since initial contributed capital theoretically belongs to the stockholders, why are there legal restrictions on paying out the funds to the stockholders?

Creditors have extended credit on the assumption that a given capital base would remain intact throughout the life of a loan. While they may not object to the payment of dividends from past and current earnings, they must have the protection of keeping contributed capital in place.



	
	

	18-6.
	Discuss how desire for control may influence a firm's willingness to pay dividends.

Management's desire for control could imply that a closely held firm should avoid dividends to minimize the need for outside financing. For a larger firm, -management may have to pay dividends in order to maintain their current position through keeping stockholders happy.



	
	

	18-7.
	If you buy stock on the ex-dividend date, will you receive the upcoming quarterly dividend?

No, the old stockholder receives the upcoming quarterly dividend. Of course, if you continue to hold the stock, you will receive the next dividend.



	
	

	18-8.
	How is a stock split (versus a stock dividend) treated on the financial statements of a corporation?

For a stock split, there is no transfer of funds, but merely a –reduction in par value and a –proportionate increase in the number of shares outstanding.





Impact of a Stock Split


Before




After

Common stock (1,000,000 shares at $10 par)
(2,000,000 shares at $5 par)



	
	


	18-9.
	Why might a stock dividend or a stock split be of limited value to an investor?

The asset base remains the same and the stockholders' proportionate interest is unchanged (everyone got the same new share). Earnings per share will go down by the exact proportion that the number of shares increases. If the P/E ratio remains constant, the total value of each shareholder's portfolio will not increase.

The only circumstances in which a stock dividend may be of some usefulness and perhaps increase value is when dividends per share remain constant and total dividends go up, or where substantial information is provided about a growth company. A stock split may have some functionality in placing the company into a lower "stock price" trading range.



	
	

	18-10.
	Does it make sense for a corporation to repurchase its own stock? Explain.

A corporation can make a rational case for purchasing its own stock as an alternate to a cash dividend policy. Earnings per share will go up and if the price-earnings ratio remains the same, the stockholder will receive the same dollar benefit as through a cash dividend. Because the benefits are in the format of capital gains the tax may be deferred until the stock is sold.

A corporation also may justify the repurchase of its own stock because it is at a very low price, or to maintain constant demand for the shares. Reacquired shares may be used for employee options or as a part of a tender offer in a merger or acquisition. Firms may also reacquire part of their stock as protection against a hostile takeover.



	
	

	18-11.
	What advantages to the corporation and the stockholder do dividend reinvestment plans offer?

Dividend reinvestment plans allow corporations to raise funds continually from present stockholders. This reduces the need for some external funds. These plans allow stockholders to reinvest dividends at low costs and to buy fractional shares, neither of which can be easily accomplished in the market by an individual. The strategy of dividend reinvestment plans allows for the compounding of dividends and the accumulation of common stock over time.




Problems

	18-1.
	Moon and Sons, Inc., earned $120 million last year and retained $72 million. What is the payout ratio?


	Solution:

Moon and Sons, Inc.

Dividends
=
(earnings – retained fund)

=
$120 mil. – $72 mil. = $48 mil.

Payout ratio
=
dividends/earnings


=
$48 mil./$120 mil. = 40.0%



	
	

	18-2.
	Ralston Gourmet Foods, Inc. earned $360 million last year and retained $252 million. What is the payout ratio?



	Solution:

Ralston Gourmet Foods, Inc.

Dividends
=
(earnings – retained funds)


=
($360 mil. – $252 mil. = $108 mil.

Payout ratio
=
dividends/earnings


=
$180 mil./$360 mil. = 30%



	
	


	18-3.
	Swank Clothiers earned $640 million last year and had a 30 percent payout ratio. How much did the firm add to its retained earnings?



	Solution:

Swank Clothiers

Addition to retained earnings
=
Earnings – Dividends
Dividends
=
30% x $640,000,000


=
$192,000,000

Addition to retained earnings
=
$640,000,000 – $192,000,000


=
$448,000,000



	
	

	18-4.
	Springsteen Music Company earned $820 million last year and paid out 20 percent of earnings in dividends.

a.
How much did retained earnings increase by?

b.
With 100 million shares outstanding and a stock price of $50, what was the dividend yield? (Hint: first compute dividends per share.)



	Solution:
Springsteen Music Company
a.
Addition to retained earnings
=
Earnings – Dividends


Dividends
=
20% x $820,000,000


Dividends
=
$164,000,000


Earnings – dividends
=
$820,000,000 – $164,000,000


Addition to retained earnings
=
$656,000,000

b.
Dividends/shares
=
$164,000,000/100,000,000



=
$1.64


Dividend yield
=
Dividend per share/stock price



=
$1.64/$50 = 3.28 percent



	
	


	18-5.
	The following companies have different financial statistics. What dividend policies would you recommend for them? Explain your reasons.


Matthews Co.
Aaron Corp.

Growth rate in sales and earnings

5%
20%

Cash as a percentage of total assets

15%
2%



	Solution:

Mathews is not growing very fast so it doesn't need cash for growth unless it desires to change its policies. Assuming it doesn't, Mathews should have a high payout ratio.

Aaron is growing very fast and needs its cash for reinvestment in assets. For this reason, Aaron should have a low dividend payout.



	
	

	18-6.
	A financial analyst is attempting to assess the future dividend policy of Interactive Technology by examining its life cycle. She anticipates no payout of earnings in the form of cash dividends during the development stage (I). During the growth stage (II), she anticipates 10 percent of earnings will be distributed as dividends. As the firm progresses to the expansion stage (III), the payout ratio will go up to 40 percent, and eventually reach 60 percent during the maturity stage (IV).

a.
Assuming earnings per share will be the following during each of the four stages, indicate the cash dividend per share (if any) during each stage.



Stage    I
$ .20


Stage   II
2.00


Stage III
2.80


Stage IV
3.00

b.
Assume in Stage IV that an investor owns 425 shares and is in a 15 percent tax bracket for dividends; what will be his or her total aftertax income from the cash dividend?

c.
In what two stages is the firm most likely to utilize stock dividends or stock splits?




18-6.  Continued

	Solution:

Interactive Technology

a.

	
	
	Earnings
	Payout Ratio
	Dividends

	
	Stage I
	$  .20
	0
	0

	
	Stage II
	2.00
	10%
	$  .20

	
	Stage III
	2.80
	40%
	$1.12

	
	Stage IV
	3.00
	60%
	$1.80


	b.
Total Dividends
=
shares x dividends per share



=
425 x 1.80 = $765


Aftertax income
=
total dividends x (1 – T)



=
$765 x (1 – .15)



=
$765 x (.85) = $650.25

c.
Stock dividends or stock splits are most likely to be utilized during stage II (growth) or stage III (expansion).



	
	

	18-7.
	Squash Delight, Inc. has the following balance sheet:



	
	Assets

	
	Cash

	$    100,000

	
	Accounts receivable

	300,000

	
	Fixed Assets

	     600,000

	
	
Total Assets

	$1,000,000



	
	Liabilities

	
	

Accounts payable

	$   150,000

	
	

Notes payable

	50,000

	
	Capital
Common stock (50,000 shares @ $2 par)

	100,000

	
	Accounts
Capital in excess of par

	200,000

	
	

Retained earnings

	     500,000
$1,000,000




18-7.  Continued

	
	The firm's stock sells for $10 a share.

a.
Show the effect on the capital account(s) of a two-for-one stock split.

b.
Show the effect on the capital accounts of a 10 percent stock divided. Part b is separate from part a. In part b do not assume the stock split has taken place.

c.
Based on the balance in retained earnings, which of the two dividend plans is more restrictive on future cash dividends?



	Solution:

Squash Delight, Inc.

a.
2 for 1 stock split



*
Common stock (100,000 shares @ $1 par)
$100,000




Capital excess of par
200,000




Retained earnings
500,000

*
The only account affected

b.
10% stock dividend




Common stock (55,000 shares @ $2 par)
$110,000



*
Capital in excess of par
245,000



**
Retained earnings
445,000



*
$200,000 + 5,000 ($10 – $1) = $200,000 + $45,000





= $245,000



**
$500,000 – 10,000 – 45,000  = $500,000 – 55,000





= $445,000

c.
The stock dividend. Cash dividends cannot exceed the balance in retained earnings and the balance is lower with the stock dividend ($445,000 versus $500,000).



	
	


	18-8.
	In doing a five-year analysis of future dividends, Newell Labs, Inc., is considering the following two plans. The values represent dividends per share.


Year
Plan A
Plan B


1

$2.50
$  .80


2

2.55
3.30

3

2.50
.35

4

2.65
2.80

5

2.65
6.60
a.
How much in total dividends per share will be paid under each plan over the five years?

b.
Ms. Carter, the vice president of finance, suggests that stockholders often prefer a stable dividend policy to a highly variable one. She will assume that stockholders apply a lower discount rate to dividends that are stable. The discount rate to be used for Plan A is 10 percent; the discount rate for Plan B is 12 percent. Which plan will provide the higher present value for the future dividends? (Round to two places to the right of the decimal point.)



	Solution:

Newell Labs, Inc.

a.
Plan A ($2.50 + 2.55 + 2.50 + 2.65 + 2.65) = $12.85


Plan B ($.80 + 3.30 + .35 + 2.80 + 6.60) = $13.85

b.
Plan A



	
	
	Dividend
Per Share
	x
	PVIF (10%)
	PV

	
	1
	$2.50
	
	.909
	$2.27

	
	2
	2.55
	
	.826
	2.11

	
	3
	2.50
	
	.751
	1.88

	
	4
	2.65
	
	.683
	1.81

	
	5
	2.65
	
	.621
	   1.65

	
	
	Present Value of future dividends


	$9.72


18-8.  Continued
	
Plan B



	
	
	Dividend
Per Share
	x
	PVIF (12%)
	PV

	
	1
	$  .80
	
	.893
	$  .71

	
	2
	3.30
	
	.797
	2.63

	
	3
	.35
	
	.712
	.25

	
	4
	2.80
	
	.636
	1.78

	
	5
	6.60
	
	.567
	   3.74

	
	
	Present Value of future dividends


	$9.11

	
Plan A will provide the higher present value of future dividends.



	
	

	18-9.
	The stock of Pills Berry Company is selling at $60 per share. The firm pays a dividend of $1.80 per share.

a.
What is the annual dividend yield?

b.
If the firm has a payout rate of 50 percent, what is the firm's P/E ratio?



	Solution:

Pills Berry Company

a.
Annual dividend yield
=
cash dividend/price



=
$1.80/$60 = 3.00%

b.
Earnings per share
=
cash dividends/.5



=
$1.80/.5 = $3.60


P/E ratio
=
Price/earnings per share



=
$60/$3.60 = 16.67x



	
	


	18-10.
	The shares of the Dyer Drilling Co. sell for $60. The firm has a P/E ratio of 15. Forty percent of earnings is paid out in dividends. What is the firm's dividend yield?



	Solution:

Dyer Drilling Company

Earnings per share
=
Stock price/price-earnings ratio


=
$60/15 = $4.00

Dividends per share
=
Earnings per share x .40


=
$4.00 x .40 = $1.60

Dividend yield
=
Dividends per share/price


=
$1.60/$60 = 2.67%



	
	

	18-11.
	Ms. Queen is in a 35 percent marginal tax bracket. If Ms. Queen receives a $3.80 in cash dividends, how much in taxes (per share) will she pay? (Recall the new 15% rule)


	Solution:

Ms. Queen

Ms. Queen


$3.80
Cash dividend


  15%
Dividend tax rate


$0.57
Taxes



	
	


	18-12.
	Stan Pearl owns 300 shares of Royal Optical Company stock, which he bought for $16 per share. He is in a 35 percent tax bracket. It is the first week in December, and he has already received the full cash dividend for the year of $1.20 per share. For his tax bracket, dividends are now taxed at 15%. The stock is currently selling for $30 1/8. He has decided to sell the stock and after paying broker commissions, his net proceeds will be $30 per share. His tax rate on capital gains is also 15 percent.

How much in total taxes will Stan Pearl pay this year for his investment in Royal Optical Company? Consider dividend income as well as capital gains.



	Solution:

Royal Optical Company

a.
Taxes on dividends

Dividend income
=
Shares x dividends per share



=
300 x $1.20



=
$360.00


Taxes


=
Dividend income x marginal tax rate





=
$360 x 15%





=
$54.00


Taxes on Capital gains

Sales price
$     30


Purchase price
       16

Capital gains per share
$     14

x
Number of shares
     300

Total capital gains
$4,200


Capital gains tax rate
    15%

Capital gains tax
$   630


Total taxes

Taxes on dividends
$  54


Taxes on capital gains
  630


$684

	
	

	18-13.
	Peabody Mining Company’s common stock is selling for $50 the day before the stock goes ex-dividend. The annual dividend yield is 5.6 percent, and dividends are distributed quarterly. Based solely on the impact of the cash dividend, by how much should the stock go down on the ex-dividend date? What will the new price of the stock be?



	Solution:

Peabody Mining Company

Annual dividend
=
5.6% x $50 = $2.80

Quarterly dividend
=
$2.80/4 = $.70

The stock should go down by $.70 to $49.30.



	
	

	18-14.
	Sun Energy Company has the following capital section in its balance sheet. Its stock is currently selling for $5 per share.


Common stock (100,000 shares at $1 par)

$100,000


Capital in excess of par

100,000


Retained earnings

  200,000


$400,000

The firm intends to first declare a 10 percent stock dividend and then pay a 30-cent cash dividend (which also causes a reduction of retained earnings). Show the capital section of the balance sheet after the first transaction and then after the second transaction.



	Solution:

Sun Energy Company

After 1st transaction

Common stock (110,000 shares at $1 par)

$110,000

Capital in excess of par

140,000

Retained earnings

  150,000

$400,000




18-14.  Continued

	After 2nd transaction

Common stock (110,000 shares at $1 par)

$110,000

Capital in excess of par

140,000

Retained earnings*

  117,000


$367,000

*
The $.30 per share cash dividend reduces retained earnings by $33,000 (110,000 x 30¢).



	
	

	18-15.
	Rolex Discount Jewelers is trying to determine the maximum amount of cash dividends it can pay this year. Assume its balance sheet is as follows:



	
	Assets

	
	Cash

	$    350,000

	
	Accounts receivable

	900,000

	
	Fixed Assets

	  1,150,000

	
	
Total Assets

	$2,400,000


	
	Liabilities and Stockholders’ Equity

	
	Accounts payable

	$   395,000

	
	Long-term notes payable

	330,000

	
	Common stock (250,000 shares @ $3 par)

	750,000

	
	Retained earnings

	     925,000

	
	Total liabilities and stockholders' equity

	$2,400,000



	
	a.
From a legal perspective, what is the maximum amount of dividends per share the firm could pay? Is this realistic?

b.
In terms of cash availability, what is the maximum amount of dividends per share the firm could pay?

c.
Assume the firm earned an 18 percent return on stockholders' equity last year. If the board wishes to pay out 50 percent of earnings in the form of dividends, how much will dividends per share be? 




18-15.  Continued

	Solution:

Rolex Discount Jewelers

a.
From a legal viewpoint, the firm can pay cash dividends equal to retained earnings of $925,000. On a per share basis, this represents $3.70 per share.
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This would not be realistic in light of the firm's cash balance.
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	c.
Stockholder's equity = common stock + retained earnings






  = $750,000 + $925,000






  = $1,675,000


Net Income

  = return on equity x stockholder’s equity






  = 18% x $1,675,000


Net Income

  = $301,500


Dividends

  = 50% x net income






  = 50% x $301,500






  = $150,750
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	18-16.
	The Vinson Corporation has earnings of $500,000 with 250,000 shares outstanding. Its P/E ratio is 20. The firm is holding $300,000 of funds to invest or pay out in dividends. If the funds are retained, the aftertax return on investment will be 15 percent, and this will add to present earnings. The 15 percent is the normal return anticipated for the corporation and the P/E ratio would remain unchanged. If the funds are paid out in the form of dividends, the P/E ratio will increase by 10 percent, because the stockholders in this corporation have a preference for dividends over retained earnings. Which plan will maximize the market value of the stock?



	Solution:

Vinson Corporation

Retained Earnings

Incremental earnings = 15% x $300,000 = $45,000



	Earnings

Per share
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	Price of stock
  =  P/E x EPS


  =  20 x $2.18 = $43.60



	Payout Earnings

New P/E
=
1.10% x 20 = 22

Earnings per share
=
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Price of stock
=
P/E x EPS


= 
22 x $2.00 = $44.00

The payout option provides the maximum market value.

	
	


	18-17.
	Eastern Telecom is trying to decide whether to increase its cash dividend immediately or use the funds to increase its future growth rate. It will use the dividend valuation model originally presented in Chapter 10 for purposes of analysis. The model was shown as formula 10-9 and is reproduced below (with a slight addition in definition of terms).
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P0  =  Price of the stock today


D1 =  Dividend at the end of the first year



D0 x (1 x g)


D0 =  Dividend today


Ke =  Required rate of return


  g =  Constant growth rate in dividends

D0 is currently $3.00, Ke is 10 percent, and g is 5 percent.

Under Plan A, D0 would be immediately increased to $3.40 and Ke and g will remain unchanged.

Under Plan B, D0 will remain at $3.00 but g will go up to 6 percent and Ke will remain unchanged.

a.
Compute P0 (price of the stock today) under Plan A. Note D1 will be equal to D0 x (1 + g) or $3.40 (1.05). Ke will equal 10 percent and g will equal 5 percent.

b.
Compute P0 (price of the stock today) under Plan B. Note D1 will be equal to D0 x (1 + g) or $3.00 (1.06). Ke will be equal to 10 percent and g will be equal to 6 percent.

c.
Which plan will produce the higher value?




18-17.  Continued
	Solution:

Eastern Telecom

a.
Plan A – increase cash dividend immediately
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First Compute D1

D1
=
D0 (1 + g)


=
$3.40 (1.05) = $3.57


Then Compute the stock price

D1 = $3.57, Ke = .10, g = .05
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	b.
Plan B – increase growth rate
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First Compute D1

D1
=
D0 (1 + g)


=
$3.00 (1.06) = $3.18




18-17.  Continued

	
Then Compute the stock price

D1 = $3.18, Ke = .10, g = .06
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c.
Plan B, which calls for using funds to increase the growth rate, will produce a higher value.



	
	

	18-18.
	The Wallace Corporation has done very well in the market during the last three years—its stock has risen from $18 per share to $44 per share. Its current statement of net worth is:


Common stock (3 million shares issued at 

  par value of $10 per share, 9 million

  shares authorized)

$30,000,000


Paid-in-capital in excess of par

15,000,000


Retained earnings

  45,000,000

  Net worth
$90,000,000

a.
What changes would occur in the statement of net worth after a two-for-one stock split?

b.
What would the statement of net worth look like after a three-for-one stock split?

c.
Assume Wallace Corporation earned $6 million. What would its earnings per share before and after the two-for-one stock split and after a three-for-one stock split?

d.
What would the price per share be before and after the two-for-one and the three-for-one stock splits? (Assume that the price-earnings ratio of 22 stays the same.)

e.
Should a stock split change the price-earnings ratio for Wallace?




18-18.  Continued
	Solution:

Wallace Corporation

a.
Six (6) million shares would be outstanding at a par value of $5 per share. Everything else will be the same.

b.
Nine (9) million shares would be outstanding at a par value of $3.33 per share. Everything else will be the same.



	c.
EPS before
=
$6,000,000/3,000,000 shares 


= $2.00 EPS


EPS after 2-1 split
=
$6,000,000/6,000,000 shares


=
$1.00 EPS


EPS after 3-1 split
=
$6,000,000/9,000/000 shares


=
$.67 EPS



	d.








      EPS x P/E


Price before split 
= $44 per share 
OR
$2.00
22


Price after 2-1 split
= $44/2 = $22
OR
  1.00
22


Price after 3-1 split
= $44/3 = 14.67*
OR
    .67
22

*
This value is slightly different from the EPS x P/E 
($.67 x 22 = $14.74) due to rounding.

e.
Probably not. A stock split should not change the price-earnings ratio unless it is combined with a change in dividends to the stockholders. Generally speaking, nothing of real value has taken place. Only to the limited extent that new information content from this split increased investor's expectations would the stock split possible have an impact on the P/E ratio.

	
	


	18-19.
	Vegas Products sells marked playing cards to blackjack dealers. It has not paid a dividend in many years, but is currently contemplating some kind of dividend. The capital accounts for the firm are:


Common stock (200,000 shares at $10 par)

$  2,000,000


Capital in excess of par

3,000,000


Retained earnings

    5,000,000

  Net worth
$10,000,000

The company's stock is selling for $40 per share. The company had total earnings of $400,000 during the year. With 200,000 shares outstanding, earnings per share were $2.00. The firm has a P/E ratio of 20.

a.
What adjustments would have to be made to the capital accounts for a 10 percent stock dividend?

b.
What adjustments would be made to EPS and the stock price? (Assume the P/E ratio remains constant.)

c.
How many shares would an investor end up with if he or she originally had 100 shares?

d.
What is the investor's total investment worth before and after the stock dividend if the P/E ratio remains constant? (There may be a small difference due to rounding.)

e.
Has Vegas Products pulled a magic trick, or has it given the investor something of value? Explain.



	Solution:

Vegas Products



	a.
Common stock (220,000 shares at $10 par)
$  2,200,000


*Capital in excess of par
3,600,000


Retained earnings
    4,200,000

Net worth
$10,000,000



	
*20,000 shares x 30 =
$     600,000


$3,000,000 + $600,000 = 
$  3,600,000



	b.
EPS after stock dividend = $400,000/220,000 = $1.82


Price = P/E ratio x EPS = 20 x $1.82 = $36.40


18-19.  Continued

	c.
100 x 1.10 = 110 shares

d.
Before
After

100 x $40 = $4,000
110 x $36.40 = $4,004

e.
Generally speaking, nothing of real value has taken place. Only to the limited extent that total cash dividends might have increased or information provided could small benefits have taken place.



	
	

	18-20.
	The Lomax Corporation has $4 million in earnings after taxes and 1 million shares outstanding. The stock trades at a P/E of 10. The firm has $3 million in excess cash.

a.
Compute the current price of the stock.

b.
If the $3 million is used to pay dividends, how much will dividends per share be?

c.
If the $3 million is used to repurchase shares in the market at a price of $43 per share, how many shares will be acquired? (Round to nearest share.)

d.
What will the new earnings per share be? (Round to the nearest cent.)

e.
If the P/E remains constant, what will the new price of the securities be? By how much, in terms of dollars, did the repurchase increase the stock price?

f.
Has the stockholder's total wealth changed as a result of the stock repurchase as opposed to the cash dividend?
g.
Is there any major tax advantage of capital appreciation versus the receipt of cash dividends?
h.
What are some other reasons a corporation may wish to repurchase its own shares in the market?




18-20.  Continued

	Solution:

The Lomax Corporation

a.
EPS
=
$4 mil./1 mil. = $4


Price
=
P/E x EPS 


Price 
=
10 x $4 = $40

b.
$3 mil./1 mil.
=
$3 dividends per share

c.
$3,000,000/$43
=
69,767 shares reacquired

d.
Shares outstanding after repurchase


1,000,000 – 69,767 = 930,233


EPS = $4 mil./930,233 = $4.30

e.
Price = P/E x EPS

10 x $4.30 = $43


The stock price has increased by $3.

f.
No. With the cash dividend:


Market value per share
$40


Cash dividend per share
    3

Total value
$43


With the repurchase of stock:


Total value per share
$43

g.
Yes. Cash dividends are taxed at rates higher than long-term capital gains.




18-20.  Continued

	h.
The corporation may think its shares are underpriced in the market. The purchase may stave off further decline and perhaps even trigger a rally. Reacquired shares may also be used for employee stock options or as part of a tender offer in a merger or an acquisition. Firms may also reacquire part of their shares as a protective device against being taken over as a merger candidate.



	
	

	18-21.
	The Majestic Corporation has the following pattern of net income each year, and associated capital expenditure projects for which the firm can earn a higher return than the stockholders could earn if the funds were paid out in the form of dividends.

	
	


Profitable Capital


Year
Net Income
Expenditure


1

$  5 million
$4 million


2

8 million
6 million


3

10 million
8 million


4

7 million
7 million


5

12 million
5 million



	
	The Majestic Corporation has 1 million shares outstanding (the following questions are separate from each other).

a.
If the marginal principle of retained earnings is applied, how much in total cash dividends will be paid over the five years?

b.
If the firm simply uses a payout ratio of 40 percent of new income, how much in total cash dividends will be paid?

c.
If the firm pays a 10 percent stock dividend in years 2 through 5, and also pays a cash dividend of $2.50 per share for each of the five years, how much in total dividends will be paid?

d.
Assume the payout ratio in each year is to be 30 percent of net income and the firm will pay a 20 percent stock dividend in years 2 through 5, how much will dividends per share for each year be?




18-21.  Continued

	Solution:

Majestic Corporation

a.
Dividends represent what is left over after profitable capital expenditures are undertaken.



	
	Year
	Net
Income
	–
	Profitable Capital
Expenditures
	Dividends

	
	1
	$  5 mil.
	
	$4 mil.
	$  1 mil.

	
	2
	8 mil.
	
	6 mil.
	2 mil.

	
	3
	10 mil.
	
	8 mil.
	2 mil.

	
	4
	7 mil.
	
	7 mil.
	0 mil.

	
	5
	12 mil.
	
	5 mil.
	    7 mil.

	
	
	
	Total cash dividends


	$12 mil.

	b.
	Year
	Net
Income
	x
	Payout Ratio
	Dividends

	
	1
	$  5 mil.
	
	.40
	$  2.0 mil.

	
	2
	8 mil.
	
	.40
	3.2 mil.

	
	3
	10 mil.
	
	.40
	4.0 mil.

	
	4
	7 mil.
	
	.40
	2.8 mil.

	
	5
	12 mil.
	
	.40
	    4.8 mil.

	
	
	
	Total cash dividends


	$16.8 mil.


18-21.  Continued

	c.
	Year
	Shares
Outstanding
	x
	Dividends
Per Share
	Dividends

	
	1
	1,000,000
	
	$2.50
	$  2,500,000

	
	2
	1,100,000
	
	2.50
	2,750,000

	
	3
	1,210,000
	
	2.50
	3,025,000

	
	4
	1,331,000
	
	2.50
	3,327,500

	
	5
	1,464,100
	
	2.50
	   3,660,250

	
	
	Total cash dividends


	$15,262,750

	d.
	Year
	Net
Income
	Payout
Ratio
	Dividends
	Shares (millions)
	Dividends Per Share

	
	1
	$  5 mil.
	.30
	$1.5 mil.
	1.0
	$1.50

	
	2
	8 mil.
	.30
	2.4 mil.
	1.2
	2.00

	
	3
	10 mil.
	.30
	3.0 mil.
	1.44
	2.08

	
	4
	7 mil.
	.30
	2.1 mil.
	1.728
	1.22

	
	5
	12 mil.
	.30
	3.6 mil.
	2.0736
	1.74


Comprehensive Problems
	CP 18-1.
	Lyle Communications had finally arrived at the point where it had sufficient excess cash flow of $2.4 million to consider paying a dividend. It had 2 million shares outstanding and was considering paying a cash dividend of $1.20 per share. The firm’s total earnings were $8 million providing $4.00 in earnings per share. Lyle Communications stock traded in the market at $64.00 per share


	
	However, Liz Crocker, the chief financial officer, was not sure paying the cash dividend was the best route to go. She had recently read a number of articles in The Wall Street Journal about the advantages of stock repurchases and before she made a recommendation to the CEO and board of directors, she decided to do a number of calculations.
a.
What is the firm’s P/E ratio?

b.
If the firm paid the cash dividend, what would be the firm’s dividend yield and dividend payout ratio per share?

c.
If a stockholder held 100 shares of stock and received the cash dividend, what would be the total value of his portfolio? (stock plus dividends)

d.
Assume instead of paying the cash dividend, the firm used the $2.4 million of excess funds to purchase shares at slightly over the current market value of $64 at a price of $65.20. How many shares could be repurchased? (round to the nearest share)

e.
What would the new earnings per share be under the stock repurchase alternative? (round to three places to the right of the decimal point)

f.
If the P/E ratio stayed the same under the stock repurchase alternative, what would be the stock value per share? If a stockholder owned 100 shares, what would now be the total value of his portfolio? (This answer should be approximately the same as answer c)



	Solution:

Lyle Communications
a.
P/E ratio 
=  Price/EPS



=  $64/$4 = 16

b.
Dividend yield
=  Dividend per share/price



=  $1.20/$64 = 1.875%


Dividend payout ratio = 

Dividend per share/Earnings per share = $1.20/$4.00 = 30%


CP 18-1.  Continued

	c.
Portfolio value

Stock (100 shares x $64)
$6,400


Dividends (100 shares x $1.20)
     120


$6,520

d.
$2,400,000/$65.20 = 36,810 shares

e.
EPS 
= total earnings/total shares



= $8,000,000/(2,000,000 – 36,810)



= $8,000,000/1,963,190 = $4.075

f.
Stock price
= P/E x EPS



= 16 x $4.075 = $65.20


Portfolio value

Stock (100 shares x $65.20)     $6,520
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